Fasteners list — From ‘B’, ‘B’ & ‘C’ and ‘D’ Factory parts lists and VOC Spares Co additional data.

Washers

4BA plain

2BA plain

2BA spring (3/16")

2BA tab washer

2BA shakeproof - internal
5/32" plain

1/4" plain

1/4" spring

1/4" shakeproof - internal
1/4" double spring (Thackery)

Nuts

4BAnyloc

2BA plain

1/4" BSF plain

1/4" BSF nyloc

1/4" BSF thin

1/4" BSF dome
5/16" BSF plain
5/16" BSF thin
5/16" BSF nyloc
5/16" BSF nyloc thin
5/16" BSF nyloc flanged

Hexagon Head Setscrews &

Bolts

2BA x 5/8" screw
2BA x 7/8" screw
2BA x 1" screw

1/4" BSF x 3/8" screw
1/4" BSF x 1/2" screw
1/4" BSF x 5/8" screw
1/4" BSF x 5/8" bolt
1/4" BSF x 3/4" screw
1/4" BSF x 3/4" bolt
1/4" BSF x 1" screw
1/4" BSF x 1.1/4” bolt
1/4" BSF x1.1/4” screw
1/4" BSFx3.1/4"bolt
1/4"BSF x 1.3/4" bolt (was 1.1/8)
1/4"BSFx 3" screw

1037/1
842/1
842
1021
10211
808
92
590
413
563

1037
75
91
91/1
731
1093
142
871
499
98
588

1030
1000-FT178
617

839 (use 188)
188

589 (use 188)
589/1

506

572

327/1

327

1042

1023

963

1005

Fasteners by Type

1/4" BSW plain (3/4" od)
5/16" plain

5/16" copper

5/16" spring

5/16" plain large (3/4" od)
5/16" stad plain

3/8" plain

3/8" spring

3/8" shakeproof - internal
3/8" plain large (7/8" od)

5/16" BSF dome
3/8" BSF plain
3/8" BSF thin
3/8" BSF dome
7/16" BSF plain
7/16" BSF thin
1/2" BSF plain
1/2" BSF thin
1/2" BSF dome
5/8" BSF plain
1/4" BSW plain

5/16" BSF x 1/2" screw
5/16" BSF x 5/8" screw
5/16" BSF x 3/4" ht bolt
5/16" BSF x 1" bolt
5/16" BSF x 1.1/4" bolt
5/16" BSF x 1.1/2" bolt
5/16" BSF x 1.7/8" bolt
5/16" BSF x 2" bolt
5/16" BSF x 2.1/4" screw
5/16" BSF x 2.1/4" bolt
5/16" BSF x 2.1/2" bolt
3/8" BSF x 1/2" screw
3/8"BSF x 5/8"

3/8"BSF x 3/4"

968
143

147
477
1028
501
361
361/1
762

1110
198
558
1111
870
570
507
879
1113
1024

360 - PR50-63X

505
843
561
520
457
962
831
973
830/1
830
867
597
840 (use 844)
844

7/16" plain

7/16" plain large (1"od)

1/2" plain

1/2" plain thick

9/16" plain

9/16" plain thick (was ET152)
9/16" double spring (Thackery)
5/8" spring

1/8" BSP cu/abs washer

7/8" od x 21/32" id x 3/64" Fibre

5/16" BSW plain
7/16" BSW plain
5/16" CEl plain
3/8" CEl plain

3/8" CEl thin

3/8" CEl dome
7/16" CEl plain
7/16" CEIl (LH) plain
1/2" CEl plain

1/2" CElI (LH) plain

3/8" BSF x 1" bolt

3/8" BSF x 11/8" bolt
3/8" BSF x 11/4" bolt
3/8" BSF x 1.1/2" bolt
3/8" BSF x 1.3/4" bolt
3/8" BSF x 2" bolt

3/8" BSF x 2.1/4" bolt
3/8" BSF x3" bolt

1/4" BSW x 5/8" screw
5/16" BSW x 3/4" screw
3/8" BSW x 2" bolt
5/16"CEIl x 1/2" screw
5/16"CEIl x 2" screw
3/8"CEl x 3/4" screw

571
796
508
508/1
981
9811
559
1025
225
448

PR50-152X
833

730

500

16

1112

834

835

836

837

670
873
977
733
687
872
967
669
279
880
876
524
969
560



Fasteners list — From ‘B’, ‘B’ & ‘C’ and ‘D’ Factory parts lists and VOC Spares Co additional data.

Cheese Head Screws - Socket Cap

(Allen) all  ### /1

3/16" BSW x 3/8"
3/16" BSW x 1/2"
3/16" BSW x 3/4"

Slotted Screws

4BA x 1/4" round head

2BA x 1/4" round head

2BA x 1/2" round head

2BA x 5/8" round head

3/16" BSW x 3/8" round head
3/16" BSW x 1/4" round head

Rivets

1/16" x 1" snap head

3/32" x 3/8" steel snap head
3/32" x 1/4" flat head alloy

Miscellaneous
1/8" BSP flanged plug

1/4" BSP union nut for 5/16"pipe

1/4" BSF grease nipple
1/4" BSF grease nipple 60°
3/16" 32tpi oiler

This list is not a stock list of the VOC Spares Co, and inclusion on this does not imply all items are available or stocked.

220
845
412

964
832
820
841
227
359

1009
591
1029

234
459
537
1092

Fasteners by Type

1/4" BSW x 3/4"

1/4" BSW x 1"

1/4" BSW x 1.1/4" (was 1.1/8")
1/4" BSW x 2.1/4"

1/4"BSF x 1/2"

1/4" BSW x 1/2" round head
1/4" BSF x 1/2" round head
3/8" BSF x 1/2" round head
4BA x 5/8" countersunk

2BA x 7/8" countersunk

2BA x 1/2" raised countersunk

1/8" x 7/32" flat head alloy
1/8" x 7/32" flat head stainless
1/8" x 1/4" steel snap head

1/2" seager external circlip
3/8" Twickilp

1/16" x 1/2" split-pin

1/8" x 1.1/4" split-pin

1/4" x 1/2" mills pin

3/32" x 1/2" mills pin

357
226
358
961

662

502/1
502
1027
1036
406
1026

418a
418ss
647

865
1006
69
H32/1
458
864

5/16" BSF x 3/4"
5/16" BSW x 1"
5/16" BSF x 1.1/4"
5/16" BSF x 2"

3/16" BSW x. 5/8" countersunk
1/4" BSF x 1/2" countersunk
1/4" BSW x 3/4" countersunk
5/16" BSW x 1/2" countersunk
5/16" BSF x 1/2" countersunk
No 6 x 1/2" self-tapping

5/32" x 3/8" alloy snap head
ATD

1/4" ball

1/4" roller

‘D’ distributor ‘O’ ring

3/8" BSW x 3/8" grub screw
5/16" BSW x 3/8" grub screw

329
974
328
972

1114

874

877
39-E121
1109
1034

807
1115

321

321/1

998

30
ET203-221

Rev0 21 March 2014



